








TRAINS  (रेलगाड़ी )



SPEED

चाल 

Speed = 
𝑫𝒊𝒔𝒕𝒂𝒏𝒄𝒆

𝑻𝒊𝒎𝒆



UNIT( इकाई )

1 km/hr. = 5/18 

1 m/s = 18/5 km/hr.
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h
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Basic Concept

When two trains are moving in (जब दो टे्रनें चल रही हों)
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(a) 36 sec

(b) 20 sec

(c) 12 sec

(d) 10 sec

A train 100 m long is running at the speed of 30 km / hr. Find the time taken by it to pass a 

man standing near the railway line.

100 मीटर लंबी एक रेलगाडी 30 ककमी/घण्टा की चाल से चल रही ह।ै रेलवे लाइन के पास खडे एक आदमी को 

पार करने में लगने वाला समय ज्ञात कीकजए।



(a) 8 sec

(b) 12 ½ sec

(c) 10 sec

(d) 7 ½ sec

A train is moving at a speed of 132 km/br. If the length of the train is 110 metres, how long 

will it take to cross a railway platform 165 metres long?

एक रेलगाडी 132 ककमी/घटंा की गकत से चल रही ह।ै यकद टे्रन की लंबाई 110 मीटर ह,ै तो 165 मीटर लंबे रेलवे 

प्लेटफॉमम को पार करने में उसे ककतना समय लगेगा?



(a) 100 m,  58 km/h

(b) 160 m,  53 km/h

(c) 150 m,   60 km/h

(d) 120 m,  54 km/h

A man is standing on a railway bridge which is 180 m long. He finds that a train crosses 

the bridge in 20 seconds but himself in 8 seconds. Find the length of the train and its 

speed?

एक आदमी रेलवे पलु पर खडा ह ैजो 180 मीटर लंबा ह।ै वह पाता ह ैकक एक टे्रन पलु को 20 सेकंड में पार करती 

ह ैलेककन खदु 8 सेकंड में। टे्रन की लंबाई और उसकी गकत ज्ञात कीकजये?



(a) 18 sec

(b) 10 sec

(c) 9 sec

(d) 14 sec

A train 150 m long is running with a speed of 68 kmph. In what time will it pass a man 

who is running at 8 kmph in the same direction in which the train is going?

150 मीटर लंबी एक रेलगाडी 68 ककमी प्रकत घटें की गकत से चल रही ह।ै टे्रन कजस कदशा में जा रही ह ैउसी कदशा

में 8 ककमी प्रकत घटें की गकत से दौड रह ेव्यकि को वह ककतने समय में पार करेगी?



(a) 15 sec

(b) 9 sec

(c) 12 sec

(d) 8 sec

A train 220 m long is running with a speed of 59 kmph.. In what will it pass a man who is 

running at 7 kmph in the direction opposite to that in which the train is going?

220 मीटर लंबी एक टे्रन 59 ककमी प्रकत घटें की गकत से चल रही ह।ै टे्रन कजस कदशा में जा रही ह,ै उसके कवपरीत 

कदशा में 7 ककमी प्रकत घटें की गकत से दौड रह ेव्यकि को वह क्या पार करेगी?



(a) 12 sec

(b) 20 sec

(c) 25 sec

(d) 18 sec

Two trains having lengths of 137 meter and 163 meter are running towards each other with 

a speed of 42 km/hr and 48 km/hr respectively. How much time will they take to cross 

each other?

137 मीटर और 163 मीटर की लंबाई वाली दो टे्रनें क्रमशः 42 ककमी/घटंा और 48 ककमी/घटंा की गकत से एक-

दसूरे की ओर चल रही हैं। उन्हें एक दसूरे को पार करने में ककतना समय लगेगा?



(a) 18 sec

(b) 36 sec

(c) 44 sec

(d) 12 sec

Two trains 100 meters and 120 meters long are running in the same direction with speeds 

of 72 km/h and 54 km/h. In how much time will the first train cross the second? 

100 मीटर और 120 मीटर लंबी दो टे्रनें समान कदशा में 72 ककमी/घटंा और 54 ककमी/घटंा की गकत से चल रही हैं। 

पहली टे्रन दसूरी टे्रन को ककतने समय में पार करेगी?



(a) 48 kmhr

(b) 40 kmhr

(c) 60 kmph

(d) 55 kmph

A train 100 metres long takes 6 seconds to cross a man walking at 5 kmph in the direction 

opposite to that of the train. Find the speed of the train.?

100 मीटर लंबी टे्रन, टे्रन की कवपरीत कदशा में 5 ककमी प्रकत घटें की गकत से चल रह ेएक व्यकि को पार करने में 6

सेकंड का समय लेती ह।ै टे्रन की गकत ज्ञात कीकजये.?



(a) 100,120

(b) 160,140

(c) 180,120

(d) 110,150

A train running at 54 kmph takes 20 seconds to pass a platform. Next it takes.12 sec to 

pass a man walking at 6 kmph in the same direction in which the train is going . Find the 

length of the train and the length of the platform.

54 ककमी प्रकत घटें की रफ्तार से चलने वाली टे्रन एक प्लेटफॉमम को पार करने में 20 सेकंड का समय लेती ह।ै 

इसके बाद यह उसी कदशा में 6 ककमी प्रकत घटें की गकत से चल रह ेएक व्यकि को पार करने में 12 सेकंड का समय 

लेती ह ैकजस कदशा में टे्रन जा रही ह।ै रेलगाडी की लम्बाई तथा प्लेटफामम की लम्बाई ज्ञात कीकजए।



(a) 48 kmph

(b) 86 kmph

(c) 62 kmph

(d) 67 kmph

A man sitting in a train which is traveling at 50 kmph observes that a goods train, traveling 

in opposite direction, takes 9 seconds to pass him. If the goods train is 280 m long, find its 

speed.?

50 ककमी प्रकत घटें की रफ्तार से चल रही टे्रन में बैठा एक आदमी दखेता ह ैकक कवपरीत कदशा में चल रही एक 

मालगाडी उसे पार करने में 9 सेकंड का समय लेती ह।ै यकद मालगाडी 280 मीटर लंबी ह,ै तो उसकी गकत ज्ञात 

कीकजए।



(a) 80 sec

(b) 40 sec

(c) 50 sec

(d) 60 sec

A train 500 m. long is running at a speed of 108 km/hr. How many seconds will it take to 

cross a 300 m. long train running in the same direction at a speed of 72 km/hr.?

एक 500 मीटर लम्बी टे्रन 108 ककमी/घण्टे की चाल से चल रही ह।ै एक उसी कदशा में 72 ककमी/घण्टे की चाल 

से आ रही टे्रन कजसकी लम्बाई 300 मीटर ह,ै को ककतने सेकेण्ड में पार करेगी?



(a) 2800 km 

(b) 2000 km 

(c) 1600 km

(d) 1200 km

Two trains start at same time from A and B towards each other with speeds 60 km/hr. and 

80 km/hr. respectively. When they met each other it was observed that one of them had 

covered 400 km. more than the other. Find the distance between A and B.

दो टे्रने एक समय पर A और B से एक दसूरे की ओर क्रमशः 60 ककमी./घ.ं और 80 ककमी/घ.ंकी चाल से चलती 

ह।ै जब दोनों टे्रने एक दसूरे से कमलती ह,ै तो यह ज्ञात होता ह ैकक उनमें से एक टे्रन दसूरी से 400 ककमी. की दरूी

अकिक तय करती ह ैतो A और B के बीच की दरूी ज्ञात कीकजये।



(a) 2.5 m/s   

(b) 8m/s        

(c) 6 m/s     

(d) 4m/s 

A 544 m. long moving train crosses a pole in 16 seconds. The length of platform is equal 

to distance covered by train in 25 seconds. A person crosses the same platform in 5 

minutes and 40 seconds. What is speed of person?

एक 544 मीटर लम्बी दौडती हुई टे्रन एक खम्भे को 16 सेकेण्ड में पार करती ह।ै प्लेटफामम की लम्बाई टे्रन द्वारा 

25 सेकेण्ड में तय की गई दरूी के समान ह।ै एक व्यकि इसी प्लेटफामम को 5 कमनट 40 सेकेण्ड में पार करता ह।ै 

व्यकि की चाल क्या ह?ै




